
ASSEMBLY INSTRUCTIONS 
NOVA-QUEEN BED/A2Z 

0' 

EMPOI Bolts M8x40 

HARDWARE FOR WOODEN 

n.No. 	Hardware 	Q.ty 

1 	Bolts M8x15 	 12 

08 

, Bolts M6x35 	 03 

4 	Screws M4x30 	 43 
— 

Key K4 • 01 

STEP 1 STEP 2 

11 of 2II  



ASSEMBLY INSTRUCTIONS 
NOVA-QUEEN BED/A2Z 

STEP 3 

[ 2 of 21 

.•••••••••,,... 


	Page 1
	Page 2

